EREDSORIIFE ST (IR U ) IERR A

H 17501 At 1E
| PR b 528 n BFELT % 8B n HEEELT
1 + : +
17 n
5 51T H 1 + o ny + Iz
H(1.14 :
Ig%ﬁ) —2sinacosf —2sinasinf
12
EE% 154) tsina cos 8 +sinasin B
24 | Fro15E | |aa| = |ar™| = |a|/(1 4+ )" 2 |a|(1 + nr) > n|a lay,| = lar" | =|a|(l1 + z)™ ! Z |a|(1 4+ (n — 1)z) > (n — 1)|a|z
. L |al - |a e iy _ |a < al _a
25 ST H |,_r” Il (1 4 n = 1 +nr E jar = (1 —.i";:”_] — 1+ (n — )z B (n— 1;:..!'
w | E (f(x) £ g(x)) = f'(x) + g(2) (f(x) £ g(x) = f'(x) £ ¢ ()
AT 11T H x4+ h=fYe+k) r+h=f"1y+k)
{51 4.5 " — _ a—2 . 9
95 | o [ (z) =ala—1)(a+ ) f(x) =ala—1)(1 4 x)°
105 147 H /P(:c} +c /P(s:)ds:+ c
filj5.4 o s 2 5 (1. NS TR D R 1) =-1Th5s.
121 | o o5 ALY ERNGTH S, AL BN TH D, FME f(1,1) 1 THb.
E 5.8 )
ATH < Yn—1 < Ym—1
5.8 . )
127 %%’?E H-;;,(f) -‘-’nm(f)
EF%5.8 : 5 , ) .
12?;9 bn(f) L"”(f) »S-rlm(]() -'T’nm,(f)
ng | IS (sin~'t) = ! (sin~1 1) = ——
(2) ’ 1 — 12 V1 —12
161 ﬁf’é‘;?% w(1L1) BN RT S5, ML) RS TH D, WuMEE f(1,1) = -1 TH 5,
66 | LELCD TR D 2> 0 FURGITR D > 2

2016.5.27iK



